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Review for Final

: Geometry 22
ot sliould be used as practice for the Geometry 22 final exam, This should not
“prepare yourself for the exam, You must go through your notes, re-do
problems, formative assessment problems, and questions from vour tests
and guizzes throughout the vear thus far.

s true or false, and explain your reasoning in each fulse case,

tersect i __"'only one point,

alse = they infersect in a line which has infinitely many points,

ntersection of 2 planes is one line True

-

) Any four points are collinear. False — any two poiuts are collinear

). Any three parallel lines are coplanar. False — any 2 paralle] tines are coplanar,

2 Use the figure below for #6-14. Note that RN plerces the plane ar N, It Is not coplanar with V.,

a) Name two segments shown in the ﬁgure. MA and MX

b) What is the intersection of CM and RN? Point N

¢) Name three collinear points. Points A, N, & X

d) What are two other ways to name plane ¥? ANC or MNX

¢} Are points R, N, M, and-X coplanar? no

f) Name two rays shown in the figure AX and NC

& Name the pair of opposite rays with endpoint N.| NX and NA i

h) AN is the same as NA. True or False? True

i} ANX names a plane. True or False? False
3) Construct and label the following:

a) The circumscribed circle of AJKL _ b) The inscribed circle of AMNO




4) For the following exercises, do the construction using the figures below.
a) Construct AB congruent to XY,

. AY
X ¥
R AY

T ‘ /8
b) Construct the perpendicular bisector of XY, - ial } s
X L Y

7(T\
¢} Construct a segment parallel to XV,

d) Construct an angle congruent to £2

bt N
\“l-v’

e) Construct the angle bisector of ZX

5} Below each figure write the name of the kind of rigid transformation shown.
a.

reflection

rotation translation

Section 2
Complete the following stcttements:

1} £ABC and ZBCD are complementary. mZABC =6x° and m<BCD = 12x°. Find x.
6x+12x=90 SOx=5§

2) ZABC and ZBCD ate supplementary. m£ABC =40x° and m/BCD = 20°, Find x.
40x +20 =180 SO x=4

a '
IVAB=2x+1,BC= 16 inches, AC = 5y — 4. Use

4) Solve for y: m£DGF =12y ~ 5, m£EGF = 24°,
the diagram to solve for x:

mDGE = 5y + 6
D 12y ~5=24+5y+6
A B c SO x=5
2x+ 1+ 16 =5x -4 SO xemf
Al = %)( G
7=X F

% @@ o oy rreet

@




5) WS bisects ~ BWY. msBWS = 32° What is :114BWV‘?

6) Determine the value of x;

a) c)
50° 2x + 20
1 Ax (12 =50
- T — . . Ayt 80° .
?g b 20 SRS X M7 o - e
30 = dx 183 +x = 1g0 fxr 17 0xr 0B 50 (50 G- 3y

o -1&3 g3 Skt JLO € 53"0
R ol God oo G

Use the followiiig steps to determine whether the'given statement is a definition.,

Linear pairs are supplementary, adjacent angles.

a) Conditional statement TE i s o« [ nvee 0 a,df/ doa  dha (Mﬂ‘us ove. SUYI)PLMVU,{«,
et oagf @ copt

‘b)Y Converse TL N (M@ud fet 50{)&‘ ”ﬂw{}j @"L(l’ a chmf AL xn {’Lu7 c/u*fm a liwe

//’(C’fﬁ

¢) Biconditional statement () pac od 0‘/1@(,( ¢ deem g linger P&‘{,{’/ 1 encl on fy s
J/{/’u’g one & \/P(DLUV\_W’{"?ﬂj m{’( c’(,r{j £t (_‘EA’_,?#
d) Decide whether the statement is a definition. Explain your reasoning,
\/&‘Q}, blc j canelye el endd Corl s L
v st e,
8) Write the conditional statement that corresponds to the Venn diagram below: el

vemarre”

Doctor

Jf Q ()@ St 1§ A Pﬁ&d&hﬂum)
iy hefshne (s

¢ docn

Section 3

1) For the following exercises, refer to the diagram below. Lines m and n are parallel. Name all angles
congruent to the given angle and give the theorems or postulates that justify your answer. i /

i 3

>
o]

0 26 =<7 Vbl Fthn, <3 _akt.inh, 9’4m; € conetsp. Loty
b) 8 2§ Verh X oty <] Wl g 3§ dwn; <Y coweyp ¥ /4
o £s_<Y4 ald,int i, < coeesp. 4 ZU EVM I tw
d) 27_Llp _ rem¥ tuw ; 23 mwso Mmi < alt. xt, §tm

8 \

3




your answer? i
g l‘:) %’ﬁ'\ ‘\E.L;-‘}:‘! ; \‘f":; i \j ) o 35

L BCA

Ol £

4
\
e ]
@
s

LS L
tTi‘é”‘fi’ght mZBCA = 680, and

92.- 8x”. What value of x makes ADHEH" e
eorem or Postulate supports your answer?
LBCA cnd £ CFH H
e {‘\il‘r‘rt:j\f lad' 14 |
; (hap o #0 P s e
4) Fill in the blanks so that the sentences are true. ]
a) The sum of angles in any quadrilateral is Skﬁ W,
b) In aparallelogram diagonals L1\ &€t 2601 E}f e i and opposite angles are
cj oA ST
® N
d A_ ¥ Loy | Al and a } e have perpendicular diagonals,
e) A ‘\W\{/( D‘? 0l d 1s a quadrilateral with only one pair of parallel sides.
) L , ) .
f) A square is a quadrilateral with "(’Qu‘\ ¢ ‘ congruent sides and -'?D\A ¥ right angles.
g} A rhombus is a_gL\\f [ f E g() \;M F¥ with four ' L}\r’;if:i) VLA ¢r’?"1[j"" sides.
h)y A v xay o i 7L eiemn is a quadrilateral with 2 pairs of parallel sides.
F .\-ﬂf .
i) Any four-sided polygon is a qu[ G & v ) H1E /6 }
o 47 f 4 " .»,! . P - [ T s S
i)} A rectangle is a quadrilateral with L) ﬁ(’x /‘ \ QM AoGiard A DG E v B
‘r;lt:,f }( ﬁ_j \/,‘ ; {d;)/__‘ f; 3 & -.,"f‘} -}:‘ g,:;; &;' {| {\ r\f;‘ x*)“P;}» {:“_% ! 3:; ,, L

5) Polygon DEFG is a parallelogram. GF =3 in, DG =2 in, m&GDE = 110°

a) m4zDGF = f 12 ) EF =
[EOTHO A
. b)maGFE= J |1 d)”E_: %

%oy LG DE 4 BZ




K MWOP 52 IhOmbus I mZMNO =88 ﬁnd each of the following; ! N
. a) msNOP = _“i,aiﬁ_ ‘ |
S PEGe 2w | v

by msOPG = ‘(“5 1 5; ‘

¢) mLZOGN = i/ P 0

7) Use polygon GHIJ to the right to answer the following:

ay WG/=3x+5 GH=22-9 HI=x+ 17 findx
SAFLE AN L5 R !
VIR b | g { g

by WGI=3x—12, JH=2x+ 10, find JH.
Za-ta=d Xy

KT L |

@) NM=___ 9% (A 50 byx= — 4

Q
st

, S(120) = 552—5%3 X
. N M AANT B et X

32-52x 3
: H | 205 -5 X

50 s |
_S S
7 b
[ : W . . 4"[”" - & 7 .
¢) Whatis N7 called? A1\ (E7 ¢t Shoud be
S K= 22

9) Find the slope, midpoint, and length of each of the following segments whose endpoints are given.

a) (-1, 4) and (4, 10) b) (8, 0) and (10, 6) |
fge- TR S
o - o ¢ : ehogad L S g e o R
Slope Dm\; E(‘wJ AR A R
el % {/ SR EATIIEE 0 ST A S A “'*ﬁ’,_‘,‘,f":ii\il'ff“:ri}_ij - L s ) 'a-\\‘j;‘ :)_4)
(RO R . o o y e

S — Ve SR
gt & Wa- (o412 = b | e 0l p T =
—

| RN 'w H - N
@

%+ £1] 4039 |
10) Lines that are parallel have _'_\_fa.‘;'ﬁ‘iﬂ\ € slopes and lines that are perpendicular have ()\P POI 1 % _ slopes.
/ECIHICE |




5 = B C. D
11) For the following, a quadrilateral has vertices (2. =5}, (-8, =3), (-2, 10} and (6, 3). .

a). Gi‘éph the quadrilateral on the grid proﬁded. - / T \; 1
s
. | i D
b) What type of quadrilateral is this? Show ALL work necessary },// Fd i
to justify your answer. / /
pEEwY;
OO /
D [ o ;I /
AU . “j I e N
) AN CE Z ]
PRSI i
L PRI ovi¢ il"m oL
Section 4 ' b e §- ¥ ,;;;j; ] Gt Zen ud v

1) Write a congruency statement for the following polygons. Why are they congruent?

A F
P P Lo v
E G AL Do rErc
D B all Oddy e
C ot enEled eve

2) Determine whether each pair of triangles can be proven congruent by using the SSS, SAS, ASA or AAS
congruence postulates. If so, identify what postulate is used.

" ®) - | 2| L
‘v V“.Q’!’ g A )I\g’

3) Determine whether each pair of triangle scan be proven congruent by using the SSS, SAS, ASA, AAS or
HL congruence postulates. If so, identify what postulate is used and write a congruency statement.

b) N
NOF 2 k

) M f) B
10 10
42 N ! £ P TEe
H/L ' . U\,} NEV
\;) NS AGER NABD = ACER D




4) State What add1t1onal information is required in order to know that the triangles are congruent for the

. reason given, %ﬁﬁ

a)  ASA m%éiﬂ% b) ASA ) A Need
,/[2‘ A \__H‘_““lr I’T\ %E m Mgg
y A . y AN N
AN . N L
‘ N ”// é! K \\l", Hll ; ] H — K
: K AN
Q y éJ‘T’" t \\\///

5) Determine whether or not the triangles below are similar (you may need to do a little work to figure it out)
by AA, SSS, or SAS, or none of them. If they are snmlar complete the similarity statement,

A D
c)
.:_-_____zi.,_
4% o
530
- ADpcF~ ARYS
SOl
. ’ X W
Y
y
lS V2% v Tz
4 ‘. o v 5 "’;g . \{’ w.‘,jr‘;&f'ﬁ 5
AABC~ A XZY — == % ATUV~ p WYY AWXY ~ ANTZ.
axzy v A A py, SAS

6)_ Determine whether the polygons are similar, not similar, or not enough information given. If they are
similar, determine the scale factor comparing the first to second figure.

) ,\,L,J( u\,w\m i%ﬂ b

/T AT

Lj'i?\ S Codt

3 i 5 baw@v E D

9

12 i Ljes
seodt xﬂtk@( 3

16
‘: QC,CLUZ
O/b - rOk(»f el




7} The ﬂjllowing polygons are similar; find x and y,

. - jv{ijf ub S5, 20
g §Liz0) e o
i

8) AAFN ~ADPG,AF=2cm, FN=3 cm., DG =10 cm., and PD =8 cm. Find AN. (x= 2. 2]

X /&% L= < 30\‘8}( _________________
___- N T}i._ﬂ__ C % S L%Z’J

9) Use the following image tO explam why the two {riangles are similar, then estimate the length of the lake.

A NIV :/11 i oL i ;‘i 2, o )
by AR o T T g
S /\ B ﬁ X L 3.0mi
524 = 2.4 za.ﬁa} ok
1.2mi 2.4 mi
10) Solve for x. kf_ﬁi%_ﬁ > M
: ‘a) S b) « c) 75
. X Jr 2>
10 ! 8 24 12
: X
18 L
5 .19 L X =200 1. e
B S T B P — -
16 X = q () . % X = 2 ‘gg ) » .
11) Use the diagram to find the height of each building,
?) ®) 2 0ft
16 ft 24 ft
EHE X .20
L{ 0 ’] ¢ o — /><
ES 2
@ 12x = 384 [£x = #¢0

GO g = 1520 -
5 (732 |x-20 1]
= 63 o




Section 5

1) For # I 3 two lengths of the right triangle are given. Find the missing length.

- ~ 7
- a)a=13 b= 5 s c=14
L c
a ba=12 b=16 c= IO
b N
ga= (L. 15 b=7 c=13
S 2} Find the missing side lengths. Leave your answers in radical form.
9 45° S & 301 ) d) 30"
y Df - 0 'Z,_Q" 222 14 o
5./3 X
45° u
9 y
60" 2 60°
y y
5 ] )
Y
12) For the following, APQR, m&PQR = 90°, PQ = 6, m4QPS = 60°, and PR = 12. ¢/ “ (J
Q AFndOR=_ ez % L [0 &\ v
P -~ . )}% \
. ) o
p A . p  DFindQS=_ 3 ER
N -
T T Ol
. ¢) Find SR =
‘ 2
d) Find the area of APQR _ A_30eun”

a) E

4 m

- ()
(8w

L bt -

13) Find the area of each figure, Round your answers to the nearest tenth.

b)

L. (P

3)31; = 2/ L "

; 77 ExF ez 5°

7t

H
3514




d the area of the following figures.

].Zﬁ b) : C)
20 mm ' 12 mi : r%
14t 8 "”V : 6 mm 8 mi & mi \m
__ﬁ_,,.,_g, -
A=bh A=dL /};H(B '3 5
JAEhtea - 3? S5 Mﬁ)

e) 9 m D )/: 90‘1}@ mf /
)\: 2om . '

ol =] /
k= €.9050) \5\ 3(10
N o M
@L> A= d oy, \Azqom” S :

5

12 cm

15) Find the circumference AND area of each figure. Leave your answer in terms of 7. A

= 18014
D=2 9 &= 1dien?
C: 26t-(m® o
g — C: 5704t
g 16) Round your answers to 12a) to the nearest hundredth. A
ANk Ay

c= H0.77 mm A= 700,06 mm™ e 2

17) Find the radius of each circle from the given information. Round to the nearest tenth if necessary.
a) Area= 2561 in* ' b) Circumference = 120 ft

= [r=1a.l fe

18) If the area of a parallelogram is 100 ¢m? and the length of the base is 25 cm, what is the height?
25h= 100 hZttem

19)If the area of a parallelogram is 45 {* and the height is 3 ft, what is the length of the base?

A= b(3) qg:[{-’f} @

20) If the area of a trapezoid is 250 in%, the lengths of the bases are 23 in and 27 in, what is the height?
R ey

250 @L%uzl 25 =250 )q [Uin ®

21)If the area of a triangle is 343 u” and the height is 14 u, what is the length of the base?

843= hh  343=b(4) @




—g

rea of the shaded region.

lp..{ec-fcznjlg
2(10) T+ = 200
S00)- 2001 =

, b) fﬁﬁf’) Ci k‘;:;;\_ I:‘g £
S PSRN
L] N :
sem| 29 b [ gy isem
T % N g
L [

o (89em Y
Section ¢ R T }
1) For the following, refer to the right prim below. .~ SR S
' a) Name the prism. - [ f‘i(ithf}u lar P_{‘ ;;Sﬂ’) .
b) Name a pair of parallel p]'_'einés'"'.f. ABC § &+ 0
4. ¢) Name two segméﬁ'ts"séke\}\f to BF Jc £ €0
" d) Name two segments | to plane BFD., AC L ED
e) What is the volume of the prism if BC=4, AC=3,and DC =2,

B

V=4 (2)
YERVIS

2) What is the slant height of a right cone with a radius of § in. and a height of 14 in.

[Hin E?ZT l"fﬂ:;_ c




